4 holes 90° to each
other on H-PCD

HPCBH0102-40-623 | 3 | @10x4Dp | @85 | 8 40 97.5x4.5Dp
(M4 Capscrew)
HPCBH0102-40-634 | 4 | @16x5Dp | @140 | 8 40 07.5x4.5Dp
(M4 Capscrew)
HPCBH0102-40-625 | 5 | @16x5Dp | ©14.0 | 8 40 97.5x4.5Dp
(M4 Capscrew)
HPCBH0102-40-606 | 6 | @17x6Dp | @15.0 | 8 40 07.5x4.5Dp
(M4 Capscrew)
HPCBH0102-58-608 | 8 | @22x7Dp | ©19.5 | 12 58 99.5x5.5Dp
(M5 Capscrew)
HPCBH0102-58-6000| 10 | @26x8Dp | ©24.0 | 12 58 99.5x5.5Dp
(M5 Capscrew)
HPCBH0102-58-6201| 12 | @32x10Dp | ©28.0 | 12 58 09.5x5.5Dp
(M5 Capscrew)
HPCBH0102-94-6202| 15 | @35x11Dp | ©33.0 | 18 04 915.0x8.5Dp
(M8 Capscrew)
HPCBH0102-94-6003| 17 | @35x10Dp | ©33.0 | 18 94 915.0x8.5Dp
(M8 Capscrew)
HPCBH0102-94-6004| 20 | @42x12Dp | ©38.0 | 18 94 915.0x8.5Dp
(M8 Capscrew)
HPCBH0102-94-6005| 25 | @47x12Dp | ©43.0 | 18 94 915.0x8.5Dp
(M8 Capscrew)
HPCBH0102-94-6006| 30 | @55x13Dp | ©50.0 | 18 04 915.0x8.5Dp
(M8 Capscrew)




Shafis & Bearings

Single Housed Bearing Assembly (Square)

HPCBHO1
MATERIAL : 7&1
080 M40 (C45) STEEL
HOUSING Zinc Plated Natural * * t -
BEARING | Steel oD 117 t .
SHIELDS (22) Steel oB @ (7]
bt ¢ =
THD ~~ $
Chamfered both sides
T3 G O N 2 )
LstPrice | 5% 0% 5% | 2% | -30% ®
PART NUMBER HPCD  THD Eearopin 1]
Assembly n
04.20 6232z =
HPCBH0102-40-623 30 - 30 £24.26 | =0
(M5) 3x10x4 =
94.20 6342z (0]
HPCBHO102-40-634 30 st 30 o 22426 |2
HPCBH0102-40-625 30 84.20 30 62522 £24.26
(M5) 5x16x5
HPCBH0102-40-606 30 Be20 30 052 £24.26
(M5) 6x17x6
HPCBH0102-58-608 46 25.20 44 6082z £30.38
(M6) 8x22x7
HPCBH0102-58-6000 | 46 25.20 44 60002z £30.38
(M6) 10x26x8
85.20 620122
HPCBH0102-58-6201 46 oy 44 B £30.38
HPCBH0102-94-6202 | 78 28.50 77 62022z £48.61
(M10) 15x35x11
98.50 60032z
HPCBH0102-94-6003 | 78 s 77 0%z £48.61
28.50 600422
HPCBHO0102-94-6004 | 78 o 77 oo £48.61
98.50 600522
HPCBHO0102-94-6005 | 78 o 77 o £48.61
28.50 60062z
HPCBHO0102-94-6006 | 78 o 77 Soneers £48.61

Unit 14, Foxwood Industrial Park, Foxwood Rd. Chesterfield, Derbyshire $41 9RN

Telephone +44(0)1246 268080 Fax +44(0)1246 260003




